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a piece of meat in its mouth.
1) was seeing — was carrying 2) see — carried
3) saw — was carrying 4) was seeing — carried
2- A: Who painted this room?
B: My father and | painted it ............... .

1) himself 2) myself 3) themselves 4) ourselves
3- A: Do you know the. ............... of that watch?

B: I don’t know. | think it is so expensive.

1) difference 2) value 3) interest 4) success
4- The doctor told me to take this ............... three times a day.

1) medicine 2) patient 3) solution 4) invention
5- She doesn’t have any ............... about computers. She wants to learn it.

1) knowledge 2) power 3) emphasis 4) sign

mm Cloze Test
The history of science is the study of the ...(6)... of science and knowledge. It describes how scientists
and researchers tried to do thousands of ...(7)... to solve problems, to answer questions, and to ...(8)...
new things. There are also many stories about those who never ...(9)... studying until they were
successful to get the ...(10)... about things they were looking for.

6- 1) statement 2) development 3) moment 4) element

7- 1) laboratories 2) memories 3) translators 4) experiments
8- 1) invent 2) succeed 3) publish 4) destroy
9-1) grew up 2) passed away 3) gave up 4) died out

10- 1) scientist 2) research 3) mountain 4) knowledge

mm Reading Comprehension
Professor Mahmood Hessabi was born in Tehran in 1903. His parents were from the city of Tafresh.

After four years in Tehran, he left for Beirut and at the age of seven, he started school there. His
mother also started teaching him Persian and religious books. He learned to recite the Holy Quran and
read poems of Hafez, Boostan, Golestan, and Shahnameh at school. He studied at Engineering School
of Beirut, too. Dr. Hessabi, at the age of 25, received his PhD in physics from Sorbonne University.

11- Where is Dr. Hessabi from?

1) Sorbonne 2) Tafresh 3) Tehran 4) Beirut
12- When did he leave Tehran?
1) 1903 2) 1907 3) 1910 4) 1905
13- According to the passage, what was his field of study after school?
1) Physics 2) Engineering 3) Poetry 4) Religion
14- When did he receive PhD?
1) 1928 2) at the age of 25
3) after 4 year in Tehran 4) “1” and “2”
15- What does the underlined word “recite” mean?
1) To have information about something 2) To get knowledge of a subject or skill
3) To say something that you have learned 4) To give lessons and help someone learn
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